Multiplication et Division par 0,1 (I)

Trouvez chaque produit ou quotient.

2,6 Xx0,1= 1,31+0,1=
5154 +0,1 = 5,6882 x 0,1 =
6,732 X 0,1 = 2,02x01=
41+01= 6,6501 - 0,1 =
1,28 +0,1 = 1,59 +0,1=
8,53 x0,1= 45313 +0,1=
8,8-+0,1= 3,149 x 0,1 =
3,031 x0,1= 8,23 +0,1=
7,549 x 0,1 = 9,016 X 0,1 =
7,3304 +- 0,1 = 2,05x0,1=
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Multiplication et Division par 0,1 (I) Solutions

Trouvez chaque produit ou quotient.

2,6 Xx0,1=0,26 1,31+0,1=13,1

5,154 + 0,1 =51,54 5,6882 x 0,1 =0,56882
6,732 x0,1=10,6732 2,02 x0,1=0,202
41+0,1=41 6,6501 = 0,1 = 66,501
1,28+0,1=128 1,59 +0,1=159

8,53 x0,1=0,853 4,5313 - 0,1 = 45,313
8,8-+0,1=288 3,149 x 0,1 = 0,3149
3,031 x0,1=0,3031 8,23 +0,1 =823

7,549 x 0,1 = 0,7549 9,016 x 0,1 =0,9016
7,3304 - 0,1 =73,304 2,05 x%x0,1=0,205
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